
ANSWERS & EXPLANATION

Question -1)

Statement: Despite agriculture employing nearly 46% of India's workforce, its contribution to GDP
is only about 18%. If the current trends continue, agriculture's share in GDP might shrink to 7%-8%
by 2047, yet it could still employ over 30% of the workforce.

Which of the following can be inferred from the above statement?

A) The contribution of agriculture to GDP is likely to grow by 2047.
B) The number of people employed in agriculture will decrease by 2047.
C) The productivity of labor in agriculture is lower compared to other sectors.
D) Agriculture will become more profitable by 2047.

Answer: C
Explanation: The statement highlights the imbalance between the high percentage of the workforce
employed in agriculture and its relatively low contribution to GDP. This suggests that the
productivity of labor in agriculture is lower compared to other sectors.

Question -2)

Statement: The Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) has promoted water-use
efficiency through micro-irrigation, covering 78 lakh hectares, with an allocation of ₹93,068 crore
for 2021-26.

Which of the following is most strongly supported by the statement?

A) Micro-irrigation is the only effective method for water management in agriculture.
B) The government's investment in water management is insufficient for sustainable agricultural
growth.
C) Efficient water management is a priority in the government's agricultural policy.
D) Micro-irrigation systems are more expensive than traditional irrigation methods.

Answer: C
Explanation: The significant allocation of funds and the extensive coverage of land under micro-
irrigation indicate that water management is a priority for the government, which supports option C.

Question -3)

Statement: India's agricultural GDP growth has lagged at 3.3% annually since 1991-92, compared to
an overall GDP growth of 6.1%. Under the Narendra Modi administration, agricultural GDP grew at
3.6%, while overall GDP growth was 5.9%.
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Which of the following is most likely a consequence of the disparity in growth rates between
agriculture and the overall economy?

A) Agriculture will continue to employ a larger share of the workforce than other sectors.
B) The economic disparity between rural and urban areas is likely to widen.
C) Agricultural productivity is expected to increase significantly in the future.
D) The overall GDP growth will slow down to match the growth of agricultural GDP.

Answer: B
Explanation: The slower growth of agricultural GDP compared to the overall economy may lead to
widening economic disparities between rural (agricultural) and urban (non-agricultural) areas.

Question -4)

Statement: The Pradhan Mantri Fasal Bima Yojana (PMFBY) has enrolled 49.5 crore farmers and
disbursed claims totaling over ₹1.45 lakh crore since its introduction in 2016.

Which of the following assumptions is most likely underlying the implementation of the
PMFBY?

A) Farmers are unwilling to invest in crop insurance without government intervention.
B) The agricultural sector is highly vulnerable to risks such as climate change and crop failure.
C) The government aims to increase its revenue through the collection of crop insurance premiums.
D) Crop insurance schemes are ineffective without adequate market access.

Answer: B
Explanation: The large-scale enrollment of farmers and the significant disbursement of claims
suggest that the scheme was implemented to address the high vulnerability of the agricultural sector
to risks.

Question -5)

Statement: The demand for food is expected to grow by approximately 2.85% annually, considering
a population growth rate of 0.85% and an expenditure elasticity of food at 0.45.

If the population growth rate increases to 1%, which of the following will most likely be true?

A) The demand for food will grow faster than 2.85% annually.
B) The demand for food will grow slower than 2.85% annually.
C) The expenditure elasticity of food will decrease.
D) The total food demand will remain unchanged.

Answer: A
Explanation: If the population growth rate increases, the overall demand for food will likely
increase faster than the current projection of 2.85% annually.
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Question -6)

Statement: The government has allocated ₹20 lakh crore for targeted agricultural credit in the
2024-25 Budget and launched the Agriculture Accelerator Fund to foster agricultural innovation.

Which of the following, if true, would most strengthen the government's approach to
achieving sustainable agricultural growth by 2047?

A) The majority of farmers lack access to modern technology and innovative practices.
B) The population growth rate is expected to decline significantly by 2047.
C) Agricultural productivity is already at its peak in most regions of India.
D) The funds allocated for agricultural credit are primarily used for non-agricultural purposes.

Answer: A
Explanation: If most farmers lack access to modern technology and innovation, the government's
initiatives focused on agricultural credit and innovation would be crucial for achieving sustainable
growth, thereby strengthening the approach.
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